'g
2%
8 5
~ - ~
4 @& i s+
¥
116 8] {3+ £
xw
18720 Wi he
B n
1 ES
£ m
v n uth |
=
[+
Wz
X
< s & 40
sTa 8 = ”m. S Terrasse
o B Sein
= D¢ F: 52.96 m?
3 2 u:s1.58m
.w 373
Vorr. +12,00
34 Ca T
b4 108 F, 1m
1 204° 2502 m
5
]
a3
X B Fliesen
B89 m
581 m i
4
ok
2 ok
eih | IE‘
VR P20
— = b
g T
— -\
1 3
L N A 0 3
0D =
be----= i
BH 1620
UK 2
STUK b4 W8 1
7 v 8
i Unm
8 .
@ Bad =
STS5S 8 fFes@ad 28 x ¢
F S 28
u: 675
: ] 4 2%
. & ﬁqcx.m
Se— — b
L E1H A 03 (%
1 -ﬁg —
169 rof 322 120—1~
lafbereich
ﬁw B Parkett
F: 2091 m*
vl  zerm MN
_ S Rpn20
FOBR mq@ma [ STUK +14,
A Ri
RPH 25 20,0/28.8
STUK +14,36 a8 g
F 588 m¢

U: 13,96* m



